P 4% 7% [|] 22 & 2 Be 2025 il LB RB A R

5| 4 w"E5 HELT zcj | wgy | ywkl | ywk2 | zf | fscj BRSHr EIME

1 [RIFEFH| 20250000072 | M2%7s[a] %4 [330.65 60 | 86.4 | 92.25(238.65| 92 zc j=wgy+ywk1+ywk2+fsc j
2 | FEBR| 20250000299 | W& a%IR) 224 [325.03] 60 | 83.4 [ 90.63[234.03| 91 zc j=wgy+tywk1+ywk2+fsc j
3 |EEHEBE| 20250001226 | MZE=%[H] %24 |321.63] 60 80 | 90.75(230. 75| 90. 88 zc j=wgy+ywk1+ywk2+fsc j
4 | Xz 20250000308 | MZg4s R %24 |310.28] 60 | 80.4 | 85 | 225.4 | 84.88 zc j=wgy+tywk1+ywk2+fsc j
5 |EMATE| 20250000005 | W42 (Al %24 |303. 13 60 80 | 81.63]221.63| 81.5 zc j=wgy+ywk1+ywk2+fsc j
6 | 2= | 20250000586 | WIZE=*[H]) %24 |302.25] 60 70 | 85.75|215.75| 86.5 zc j=wgy+tywk1+ywk2+fsc j
7 [HEZE| 20250000057 ANTLERE  |309.58] 60 | 73.2 | 88.25|221.45] 88.13 zc j=wgy+ywk1+ywk2+fsc j
8 | #MRF | 20250000695 | MIZgZSA 424 |319.28) 60 | 78.4 | 89.75(228. 15| 91. 13 zc j=wgy+ywk1+ywk2+fsc j
9 | HIERE[ 20250000501 | MIZEa%[E]) 224 | 91. 63 91.63 | 91.63 zcj=fscj=zf

10 |[5K40f5| 20250000290 | 4% 28R 224 | 91. 38 91.38 | 91.38 zcj=fscj=zf

11 |H =& 20250000318 | M%7 a2z 4 | 91. 38 91.38 | 91.38 zcj=fscj=zf

12 |#Z44| 20250000252 | P42l % 4 | 91. 13 91.13 ] 91.13 zcj=fscj=zf

13 | &4 | 20250000321 | M&&=51A] 224 | 90. 63 90. 63 | 90. 63 zcj=fscj=zf

14 BB EHF| 20250000471 | P& 4[] 224 | 88. 38 88.38 | 88.38 zcj=fscj=zf

15 || 20250000742 | &% 25 1A] 224> | 88. 13 88.13 | 88.13 zcj=fscj=zf

16 | BRI 20250000642 | P4% 25 a] 224 | 84. 38 84.38 | 84.38 zcj=fscj=zf

17 [Z=n]HE| 20250001064 N AR 88. 75 88.75 | 88.75 zcj=fscj=zf

18 |REAESE| 20250000647 |48 515 B 44| 84. 75 84.75 | 84.75 zcj=fscj=zf

19 |5k B[ 20250001276 |4 515 B 224 86 86 86 zcj=fscj=zf

20 |5KHEEZ] 20250001353 NILE R 82.34| 78 | 78.8 | 80 |236.8| 87.5 |zcj=ywkl*0. 3+ (wgy+ywk2)*0. 3/2+fsc j*0. 4
21 [#&0KE| 20250001614 ANLBER  |76.512] 59 | 72.2 | 69 |200.2 | 89.13 |zcj=ywkl*0. 3+ (wgy+ywk2)*0. 3/2+fsc j*0. 4
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